4 BE P

(O] Oltf= Tetel o] 0| A=BtAIH FELICH)

| 27K K| HZA|D ESSITAl StLILO| o382 Al ZtstH
ca| A& L

AN H

t=44d / CHZ0l

tLiE, BX[e] x5 EELICL
, el F O a2|& =
S OF2[OFO| Al LEA| 2

TOF MALZHO| 2 =5 F2A1d
At 7H2CIA CEA] &OfLE 2,
OfEH X| StLtE 2 HO| SEOF AACH}
=2 S oot AL

0 A5t 132t §=9| wX et
(=) o o ¢|_| |:_|._ OI.

E o
=
Iu

L

Or>90 > 10
_'o_ﬁ
m|r| OF

0

>

rin

>

>

i

o

20
Aok @

=

o >
o r=rjonjo o

1

=t
ol
10
Sl
futot
=11
08
0x
=

|
[ =]

=
» Xt 3 588% 3% L= ME EZt (8 307%) / CH&0|
1. 35 L= ME E2t SAIH gfan Z4l 2ot 27k ot £¢1 0| SN e
Mo F=a5ts FH ME HOFAIL 43 HE A2 fsf 2de A FolL
2. 29| HiglatE Hil 24 =1 Ot s £2F20| 2 Rk 0 2T XL
Ofg =0 EHHE Ex 3| YSIANAHE A= RHHES YS|AIX| Yot
3. HEE2 Mo £ B O & X2 Y10 A7 H2fstx| 2ot}
Ol= 0|2} AMEE0| Zt75t= A0|2 3| St OfHX|= 45| £ A ORICE
4. Hz= HA Fo| Lzt 19| ol ot SHLHHO| 2= AS H3|of|AH FAIZ|
LHY 22 5H0A OFF el TX[L| WY Hedstx| Zet 25 08 =it
L E 7| 7% Sof|M
pEdAEAES Ol &=L 71X 5:16-18 / QA &=X}
oot ar TSt (X D 7| =skat R—HAN| ZrAlStEE 0]Zd0| dZ|AkE
Ol CtolM LB E akstal StLtECl 2ol 2t
pUZME “SE|§ eet StLEL| X7 o) tge =Xt Y=t Lot
RE|E Fotdl SHLIES| =2 FALNR? At HZ22 A 7(istn, $|X| o
7|=5k0, HHALY| ZEASH=E 40| StLHESl Z¥E 7|Fstn UEL L

1. &4 7|tst2t. (163)

dE= 7[SHOF LT et Z[usoF SfLICt Z[& mMiTto| otL|2t =1, O
Q= 7|ijsOF StL|CE Atz HIZO| OE &2 HUSLICHL 532 HSIH H
FRet ¥, SEY, oDt g, ZEo Y, A=2%t £3, SM0| & H
LAES WOl YAX|TH HZE2 7[ES WAV|X| %ol HWPSLICH O
Atgtel glez E|X| YUAELCH F=E oA s L Ct
F QoM S Z|stEr L7t CRA| ESHel] Z[tSt2HE 4:4)
W glez= QF E[X|Z F=H QA= ZtsTLICt FEO| YE8 FA|D 2 EA|
71 THoE FH QoM T4 T = JUSLICH

0

r
L

S I =
rlo rot I




2. #|X| B 7|=5k=t (178)
dE=& 7|22 AtEO[0{0F °“—|Ef A 2 7|=5{oF L 7= & m
ZE "HeLch ARE2 7S sl ZE YorAl A of E2tn RS

(A& 12:23).

HAM K= AFES MI U0t A|ZHO| X|L}H HREEIL|ICH 22| E& o4 X| = OpE7t
X|QLct ZIEE #H HNE FE7|=H8X| 1, I-rEH S & LT, 1*”# ZA47H0| EfLNE
LIS ANFEED, %ﬂ'asar 10loz Or30| ECtELICE 7= I FA oL X7t

STEH, 2o AE0[ AtgpX|a, LW Df%oﬂ StLiES| SE0| gtLitt. StLtEO|
A5 -L“Ef—c 2== ZIti5hA &Lt
OtF AE Fa{otx| T Ctft BE Ao 7|=et 742, 13| 718 AS ZAre
o= 6H—f'r:l"il OfEIEf(”a' 4:6)
geiet 2oS 7IEe BH2E o7|E BIELIL
3. "AROl ZAbste). (18%7)

de& AAHOF RLICE EAL S 2= Lo ZARSHOF 2FLCE BALS| ZAlSHS
A2 O oA dtLidel 232 7tsd IEf
Ag|2k o QoM Ls[oflA| F4 StLiHel 22 Djgor L7t HElE
ot 4 StLEEM| LPA}o}_l;LI(_TI_J.t_i 1:4)
YAts detol2 |7t2|AE[OHeoxopotio) U LICE O] EHojof 28|, 7t2|A(xopio
2= THO{7F S017F UL 5 ZAr 20| 287F UL Z=5| TotHE Z
Aol O |2 280N AIZELCE 287t QLofop ZAE = UASLICE 238 810

I_I_I_

de it s & gaut
xfjme] M9l Ao|AASS CH2Il 20| LHSLICH “ARAlE 22Xl 7}

StLt A= JAS AKX o= Zo|ck 22| 7h20 ZARR Aol HREE e
LICE ZAS| ¢ EH%_ '=8'0[ OfL[af, "SAHSIC Y LIC,

X'k ob =2t S¢F 0 f—E.'— OE' Mg et A0| OfL|2}, ZASHOoF & &
YLCh HRLE %% IEL OIAE WSS GAte AlLG2= HiZt2ED BAO| ZA}
ot= @At Qldof &2 S=L
973

pE B 419% F W U L7} HOkS| AU (B 478%) / CHZO|
1

=70 & Li7F HOS| Ul & f0 HHE S0{NE
HXIHAM 2 X7 FAIL AZ|M HES| 2| =0t

=270 B FYUsict O M ZE A Hk
270 B W = S G5 A7IM €
m]

=20 & Lol e EL AY|AM $7[E Hoteet
I LIS ?IZX] ROt 717|*1 gotE Felelet
|

oz M 2
oy

N
[m]
oz
N
N
Ir
i
0

l_
e

= ch=

r 50 =24 '% t.':*ﬂ %E'%Ji* otAlI S A oz|gt
pF 7] EF (MHY) EHE*OI

St=0| A Al 22| OfHX|, OFHX[2| 0|52 HEFSHAH SHAIH,
Ot X|Q| L2 m QA ShA|H, OFHX[9| £& o Zz

YOME O|RNX[A StaM. 2F $3I0ﬂ71l g2 TS FAIL,
F2[7} 22[0A =Xt *f%@ EM50 = Zd 0|
|

22| =& A0l FAIL, 22| Ao WX[X] A SHA[LL
o0l FotaAM. Ligtet Asnt FE0| S S| ot X|o| A LTt Of .




